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Do Your Self

1. When simplify, {(2)2}3 X ((%)Z>'2 x(3)1x % becomes: ...

a’-b* ab- b>
ab ab— a?

2. Reduce to lowest term, is equal to ............

3. When simplify, (x~* + y 1)1 is equal to .......

4. The value of x + x(x*) when X = 2 is ....cvvunee

-2
5. The value of (32)3 + ((g) )2 +351S ivrnnnean

5 1
6. <162 + 162) -16% = ...........

-3

-3 5
7.42 + 82=..ccrcirnnrnnns

8. By what number should (-3/5) -3 be divided so that the quotient may be

(9/25)2?
L\ m+n L\ P LP\PTM
9. Prove that (x_") X (x—p) X (x_m) =1
10. Find the value of x

62x+1 /216 =1296

PLEASE SEND THE SOLUTIONS IN WHATSAPP GROUPS




